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Mark  reading of volume, V on the diagram. (Imk)
4 mtzmofammkgﬂgmm:ﬁymdﬁgmﬁnllufmw.%enfuﬂuf

mercury its mass is 360g :
8) i. Calculate the mass of water that fills the density bottle. (§mks)

Mess 45q - 204 = 253
i, Cajcutate the mass of mercury that fills the density bottle. (Imk)

]
™Ma&gs  360g - 209 = 3404 Teacher.co.ke
b) i. Given that the density of water is Ig/cmy’, calculate the volume of water that fills the density

(Zmks)
3 3
= ‘%8 = 5 ¢cm
l 3|cm&
.. wry that fills the density borle. Grk)
‘ = Skog e — 25.;“3
e m_ﬁé (2mks)
. meat {
G\G*ﬂﬂh] : 91248 = 13-6 3\*3"""‘3
volume 2
5. 2)Define forceand state its Sunit. =~ 5 C (2mks)

“T—Gﬂ‘ vs e vfluy & F’url-.’ a Pu!! oY & er'l- P tJ'aJnCL ‘
£ I Uﬁ'lt f\léh:i‘bnﬁ ’
b) Differentiate between cohesive and adhesive forces. {2mks)
Ccheslive :{'ctcﬁx _are Yyces b{»ﬂ&fﬁd‘xéh betweenw mmolecules of <
Lo Kind Lhila g qunvqfcfcﬂ: QG ve jcfce.s‘ o.f- ﬁﬂ(ﬂﬂhbh
between molecules of ATrereirt Kiwd.
6. List two factors affecting surface tension

T t'ﬁ“ﬂpﬁfn}uie -

(2mks)

- ‘mpu-fi‘h'q-t
7. Abodywﬁﬂuﬁm.calcmiﬂﬂm{rlw
M e L = tht'ik-l; e Ccri

J‘fﬁf:"ﬂ"’ﬂth !
Fovia 11310"_\#.5
§ Define pressure giving its 51 unit.

;va.e Chavl | AQ'F‘H:-“ " 'f‘“‘i Qe""':‘j m-“""‘\q“b ¢y

~. &

FQ"?EHA;C-‘“{MLB Pey waik QAVE & .

(2mks)

= 6-5 ‘kj

(2mks)
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9. :zl Below shows a liquid manometer being used to measure gas pressure contained in a small
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i t;nm: the pressure acting on surface of water at: (2mks)
T Pescuve of 4o Sa .,

3 M”"‘"‘P"‘eﬂ'c Pressuve -

it.  State why pressure at X is equal to pressure at Z. (1mk)

P““Q-EJHT'L ‘=l+ 'h'\ﬁ- Sawmg \QVGL\ '-& ‘Hn.w_ Same -

LR

fii. i t=10cm, atmospheric = 103000N/m® and i
o i e density of water is 1000kg/m’, determine the

Ps = b g3, + P i

(0|“lﬂnﬁ"\ﬂ)+'ﬁ3t)0h - ,BL‘»DBQI\]lmt
joo © T’tn c o
10. State two properties of the hydraul) %ﬁq

= InComprecilel ¢

(2mks)

-L'ﬁ\b "\nﬁ'{t\j P‘““‘b
- Hdwn bml.,tnj P“""t

- N own - Ch'f\"ﬂ-f;ve
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11. Figure below shows a iR pump.
i

e 70 T it PR T [ 1 | Moty Teacher.co.ke

a) Naméthew!vethuwmdt&mthﬂdmwhmthepi&tmiswﬂedm

Opeos — Valva Y
Closes — Valve X

{2mks)

12. a) State the kinetic theory of matter. .. d Omk:
Miedley 1€ rade wp of *'hw f"—‘sTFdQI which, ave i v Cbhm)'?'ﬂhn'bh

D'b' LA
m&mmowslﬁrmamupmmmd motion of
Suats the paihose of ¥ of smoke particles in air.
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metal A
i.  Compare linear expansivity vaiues of the two metals. (2mks)

he

Mekal x has a high Lineavw -equ-d.-wha ad <
Fved 4o metal B .

fi. State how the two metals are joined together. {(1mk) ‘
E:, ~waet <
fi.  Stafe onc application of the bimetaliic stip, {1mk)

{havmoctad 1n  electrizal Appliauces .
14. Give a reason for taal? of ‘t‘;‘-}nllmng. q P?l
i.  In building contraction steel metal is used fo reinforce concrete. (2mks)

S‘}ﬁé‘i ﬁucl Cﬁ“l“d'fﬂ, hae '1‘4-—2 Sawie Linoay Qxﬁﬁfiui‘l‘d vate -
ii.  Ordinary glass tumbier breaks when hot waler is poured in it. : E e
Hod Watey heatc the Inner walle of fhe glars Mmaking it expane
Lol g +he owher wall does wnet me
"!kiz i’.‘fﬂn}ai G‘N‘mtj ’fﬂ'fCEi' < QRPQM‘n;‘ m:‘- Lreak 1
15, State one advantage of alcohol over mercury when as a thermometer liguid. (1mk)
Aledel Has o Low mebhey Pt (faamsporit) wsed dy mane
: ¢ w MEct >
oG gt ok ut. gl e e

268 -3F3 = 285 C

17. State the three modes of heat transfer. (3mks)
Py
e :
“Convection - -

i ._a
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§9. Explain why metals conduct heat faster tan non-metals. (2mks)
Mekale uce looti, atomn Vibrahgaw

"l:t:'r Cﬂhclu r;_{ .
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30. Give a reason why two thin blankets ase warmer than one thick bianket. {Imk)
Thi tﬁ‘j-ﬁf R ey'd I "\‘ﬁ?x Qv
gj Poex L n«:ﬁi-ué‘?h? ﬂ.-fi \n,q 4& .

21. Give two differences between massand weight. (4mks)

Ml W@ &
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f“ﬁ:t# ‘-!-E 4-“-‘.— %mﬁ"':ﬁ G{- ""’ﬂ..‘%'}ﬁ' i 1_,&&1%1.‘&; Gﬁ T ¢ Phﬂ ‘Ef 8?‘\.’4?"’:
tn a.u okject i ex"an object -

i* 1 & M#ﬁ.Sh\fﬂ_d uitvm‘a_q l;.anq MQ‘QTH?EC‘ utun‘s =~ @Pﬁﬂb
balance bolence

Baore ‘ﬁuﬁ“ﬁ-ib Y& chec q“:ﬁﬁﬁhm .

£3 unilt 1t Kilogwmma EF unit 1 Nedton,

Scanned by TapScanner





